
 

Tema 3 

 

 

Problema 3. Solución 

 

  28 31,213 10 m   

 

 

Problema 4. Solución 

 

  
4

a=
3

R
  

 

Problema 5. Solución 

 

  1,633
c

a
   

 

Problema 6. Solución 

 
  (BCC) 0,68FEA    

 

Problema 7. Solución 

 
  ( C) 0,74FEA H    

 

Problema 8. Solución 

 

  
6

( ) 0,52

NC

FEA CS




  

 

Problema 9. Solución 

 

  
3

10,21
g

densidad
cm

   

 

Problema 15. Solución 

 
  BCC   

 

Problema 16. Solución 

 

  

:

:

:

A BCC

A CS

A BCC

  

 

Problema 18. Solución 

 

  
6

( ) 0,52

NC

FEA CS




  

 



Problema 23. Solución 

 

  

3

sistema cristalino tetragonal

tetragonal centrado en el cuerpo

10,52
g

densidad
cm



  

 

Problema 28 

 

Problema 29 

 

Problema 30  

 

Problema 33 

 

Problema 34 

 

Problema 35  

  

Problema 43. Solución  

[100] = 0,71 

[110] = 0,71 

[111] = 0,41 

 

Problema 44 Solución  

[110] = 0,61 

[111] = 1 

 

Problema 45. Solución  

(100) = 0,79 

(111) = 0,91 

 

Problema 46. Solución  

(100) = 0,59 

(110) = 0,83 

 

Problema 48. Solución 

 

  
sistema cristalino tetragonal

tetragonal centrado en el cuerpo
  

 

 

 

 

  

Problema 18. Solución 

 

  
6

( ) 0,52

NC

FEA CS




  

 

 


